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o Please check that this question paper contains 8 printed pages.

o Code number given on the right hand side of the guestion paper should be written on the
title page of the answer-book by the candidate.

» Please chock that this question paper containg 35 guestions.

o Please write down the serial number of the question before attempting it.
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General Instructions :
(i) Al questions are compulsory.

(ii)  Questions pumber 1 to 10 are of one mark cach. The answers to these questions should
nof exceed 20 words each.

(iii) Questions number 11 1o 20 are of twe marks each, The answers to these questions
should not exceed 40 words each.

(iv) Questions number 21 to 30 are of four marks each. The answers to these guestions
showuld not exceed 100 words each.

fv)  Questions number 31 to 35 are of six marks each. The answers to these questions
should not exceed 160 words each.
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1. Fill in the blanks in the following :

Cold War was a competition between and backed by thoir allics,
frmfefas | i =F 9RO -
1T 9% #H a4 37 fig-uel 5 9= wfafe 4

2. On which idenlogy was the Soviet political system based 7

aﬁﬁuﬁrmﬁrﬁmmﬂﬁﬁmﬁaﬁwmmlﬁrﬂl?

9. Correct the following statement and rewrite

“The present Seeretary-General of the United Nations is Ban Ki Moon, the firat Alvican
to hald the pest”

fpfafiad 49 ® e & ¢ foE
“ﬁ;ﬁﬂe-ﬁaﬂaﬁqﬂnﬁmlﬁaﬁﬁaﬁ@%&ﬁﬁﬁme%r'

4. What did BWC (Biological Weapons Convention), 1872 deeide ?
Bwe (Frrfe 4T awaeE), 1072 59 4 foE fen e 7

5. Why are India and China exempt from Kyoto Protocol ?
ﬂwﬁ-fnﬂqaﬁﬂa‘lﬁmﬁaﬁaaﬁmmmﬁﬁagaﬁﬂd%?
6. What is globalisation ?
Ay ol wed @ 7

7. Why did the leaders of the national movement cherish the ideal of a sceular nation ?
Give any one roason.

nﬁuaﬁaﬁ#ﬁmﬁﬁﬁﬁmiﬁmﬁaﬂﬁﬁ?ﬁﬁﬁmﬂml

8. Where and when did the Communist Party come Lo power in the world for the [irsk Limo
through democratic elections ?

fyE A W #HR ﬁiaﬁqﬁaqﬁm‘lmwmﬂ:ﬂﬁ%aﬂwm
T ?

9. Correet the following statement and vewrite :
“Goa was not merged with Maharashtra as the Central Government did not want it

frefefad w99 @ 48 & T el
Wﬂwwﬁmﬁmwﬁﬁmwmﬂﬁmﬁm "
10. What was Chipko movement ?
faushl sffee 4 9 2
11. Méntion any two negative effects of Shock Therapy.

mm%ﬁﬁ'ﬁmmmmaﬁmi
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12. What was the 9/11 event 7 Whatl was the US response to it ? 2
o/11 F HEA W A 7 SR HoFW W F swa 4 2

, 18. Give any two reasons why veto power of the permanent members of Security Council
cannot be abolished.

| g & g weEl & fRuieR @ ad g T R o gee 2 51X 8 4
| Fo7 FeTT |

(2]

| 14, Mention any four threats, except war, to human security. 2

| a5 % foam e gu & e 3 9% Ea @ Seod wieg |

. 15, How have technological advancement and recognition of inter-connectedness affected
plobalisption 7

' seifirE 3 g¢ T i aTHl-geE @ ArEal 4 dvEen & 6d g e 2

16. Who are indigenous people ? What institutions do they follow 7 2

| o fed W S @ 2 A o dwel & aey s w2
| 17,

{a) To which year does the cartoon refer ?

o]

| (b} Name the person for whom this comment ‘Aya Ram Gaya Ram' was made.

1 (%) %@ ®iZa g 9t § gefem @ 7
(@) ‘I T T A g e e A & e 0w 2

The following guestion is for Blind Candidates only in lieu of Q. No. 17,

Frfofaa wod Sae oiEds simiag & foe 9w 98 17 % ®E W E

{a})  The incident related to ‘Aya Ram Gaya Ram’ refers to which year ?

(hy Name the person for whom the comment ‘Aya Ram Gaya Ram’ was made, 2

(&) ‘mmEr g8 T O EE 9§ wEtEe 22w g 7
(@) ‘s TR T U9 e e e ot $ ee J w0 R 2
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18, Study the map given regarding Assembly Election Results,

following guestion :
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In which four states af
legislatures 7

BE/M

the country, did the Congress not get a maj

grity in the state
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The following question is for Blind Candidates only in lieu of Q. No. 18,

Frefafan w1 &aw gied aiaféd & e o oo 18§ ©m oW #

Lo e " ®© B e o

ﬂﬁnm'!ﬂf:ﬁ: i ﬁﬂ;
Wl 1967
hmwﬂtmmﬁm
TR (Wi ) g T e At
HO 5 TR H T )

CRETE e BB PE R S B et e i

Mention any four states of India wherein Congress got majority in the General
Elections of 1987.

qr |
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19. Sardar Patel in a letter to princely rulers in 1947 said; “I hope the Indian states shall
realise fully that if we do mot co-operate and work together in general interest, anarchy
and chaos will overwhelm us all, great and small, and lead us to total ruin”,

Answer the following questions :

(a) What general interest has been referred to ?

(b} What gituation would lead to total ruin ? 1+1
FAEl ¥ W ) TeR R 3 T W 6 1947 § Fan, A g s o
fred T A A U0 o & e evl 0 Ak g wedAm A S we-ame w5
qod % fU wy fe 9 ed 0 @ @ SweEa 3 e, @ o § w2 aw A
S o s o

(&) frg gd-gme & ward & ava e o g ?

(@) S ff wE @ K & st ?

20, State any two Directive Principles of State Policy relating to foreign policy. 141
frl @ T A % RRe Toerd @ Iee afae faemn wee Ry i | #
21. Economic preponderance of the US is inseparable from the structural power, Deseribio, q

stiifra &1 anfiE wEear 3T wArE Ofs § ugs T8 2 | vl i

22. Mention any four realities that have changed the world politics after the Cold War. 4

U fadl an afaasl & 3 e B 3 e gl 3 i gw F T
ageAE A9l |

23, Why did the super-powers in the Cold War era need allies ? 4

me-wt #o3E g% % g § fE-uE S enEvEEa o 4 7

24. Mention any four common features of European Union. It

i He ) AR g s & IeE F |

25, Describe any four issues relating to environmental degradation. 4
qafariy e (sR) & T B G 9R R @ avie S |
26, Why is the decade of sixties labelled as a ‘dangerons’ decade ? 4

1960 % =UE @ ‘EeETE E ¥ FE S e 7

27. During the early vears of independence, dEﬁpiLE.T.he fact that the opposition parties had
a token representation they played a crucial role in maintaining the democratic character
of the system. How 7 4

waE & qE & o fave o A ogel e W S ke e oo, fiwo
= TE 4 N T & S aie B A e o e g s gt
BRI
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28. What was Narmada Bachao Andolan 7 What was the criticism against it ? 2+2

e FEel AR 39 97 7 5% fGee 59 e # 2

29. How does the political leadership of a nation affect its foreign policy ? Briefly -explain
with the help of two examples from India’s foreign policy. 242

fedt g & Tolos A9e FE o 3§ UF & Ry AT W e wwm 8 2 oy
Fi Ry Hift afyg A EEw 31 gy @@y § = Hiw |

30, Describe any four circumstances for the proclamation of emergency in India in 1975, 4
{1 oftfeafeal ® wre § 1975 § s fafs &t Smom & o 2 Bl am ofifiafe
# quE i |
31, How did the New International Economic Order come into being ? What reforms were
proposed by UNCTAD in its report in 1972 7 6
OR

‘India and the USSR enjoyed a special relationship during the Cold War, which led
criticd to say that India was a part of the Soviet Camp. Do you agree ? Suppert your
angwar with any two argumonts,

T FHET anfde S # 9em # FR S 8 7 UNCTAD A 1072 & S A
o e qud @ el fwr 2

arera
Vit 7% % @A G SR wiEEn w9 % gy gy e 4 s e Ao s
w1 gL fire 6 wRe dfawd e @ 9m @ WO 58 SEA W wed & 7 a7
I H W HE T e

32. Are there any limitations on the hegemony of the US 7 Explain briefly, (&
OR

How has the European Unien risen to being a super-national organisation ? What are
ite limitations 7

T WA & a9 @ S §md § 2 @9 i sren sifew |
Fgar
i HY uF e GeA § w9 F 3 Iww 2 suE dmd g 2
i 33. What were the consequences of the partition of India in 1947 ? 6
OR

Explain how the General Elections of 1952 in India were a landmark in the history of
democracy all over the world.

1947 ¥ A & faaE F 99 9Rom gq ?
Ha

G W 1952 F AWM TN [ IR F dwos & e 3w e wn 9w @
o Wil gY 7 =R Sy |

58/1 7 P.T.0.




34,

36,

58/{1

What were the factors which led to the popularity of Indira Gandhi's government in the
carly 1870s 7

OR 7

“Governments that seem to be unstable and quarrelsome are severely punished by the
voters.” Explain with reference to Janata Party rule,

1970 % =v & we § e e ) gER f sRei § et gg 2
ST

F 0 s o % e F ded # osgmen Fim |

Explain how the Indian government has been pursuing the path of demooratic
negotiation to solve the Kashmir issue.

oR

UAfter the clections in 1989, an era of coalition started in which political parties are
not aligning or re-aligning on the basis of ideologies.” Explain.

ST GRS eaiEE A 5 U S g0 WY JAE R g
feon ¥y W R 7 =SgrEm W |

Faan

1089 % A & A TEEHA @) TSI F g0 A g A G G FEe
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